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A simply supported beam is subjected to a
uniform {oad w, as shown in figure (1a). The
beam has a rectangular cross section with a width
b and a depth A, as figure (1b) shows.

a) Plot shear force S(x) as a function of x.

b) Plot bending moment M(x) as a function of x.
¢) Determine the maximum normal stress in this

beam,

.

A circular shaft is fixed at both ends and is
subjected to torques T, and T,. Determine the
torque-at the center point C if T,=47T,.

The mechanism shown in the figure has 4 pin
(revolute) joints at 4, B, C, and D. Link lengths -,
are £,=150mm, £,=200mm, and £,=240mm. At
the instant shown in the figure, 6=60°, and link
AB rotates with a speed w,; =2 rad/s
(counterclockwise).
a) Locate the instantaneous center of zero

velocity for link BC.
b) Determine angular velocity w,, of link CD.

At the instant shown in the figure, a uniform

The rod has a .
mass of m=0.6kg, a dimension 5=100mm, and -
(g=9.81m/s)

a) Draw free body diagram of this rod.

slender rod is released from rest.
center of mass is at G.

b) Determine reaction forces at O at this instant.
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